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· Please check that this question paper contains 04 printed pages.

· Code number given on the right 'hand side of the question paper should be written on the title page of the answer-book by the candidate.

· Please check that this question paper contains 30 questions.

· Please write down the serial number of the question before attempting it.

Time allowed: 3 hours





      Maximum Marks: 80

General Instructions:

1. 
All questions are compulsory.

2. 
The question paper consist of 30 questions divided into three sections A, B, C and D. Section A comprises of 10 questions of one mark each, section B comprises of 5 questions of two marks each , section C comprises of 10 questions of three marks each and section D comprises of 5 questions of six marks each.

3. 
All questions in Section A are to be answered in one word, one sentence or as per the exact requirement of the question.

4. 
There is no overall choice. However, internal choice has been provided in 1 question of two marks each, 3 questions of three marks each and 2 questions of six marks each. You have to attempt only one of the alternatives in all such questions.

5.
Use of calculators is not permitted. You may ask for mathematical tables, if required.

SECTION ( A
1.
Complete the following missing entries in the following factor tree.
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2.
If one of the zeroes of the polynomial 
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 is a reciprocal of the other, find k.
3
Verify that the system 
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 is inconsistent.

4.
Show that the equation 
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 has irrational roots.
5.
Find the angle of elevation of the Sun, when the length of the shadow of a tree is 
[image: image5.wmf]3

 times the height of the tree.

6.
L and M are the midpoints of AB and BC respectively of 
[image: image6.wmf]ABC

V

, right angled at B. Prove that 
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7.
In the adjoining figure, AB and CD are two common tangents to the two touching circles. If 
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 find AB.
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8.
How many metres of cloth 5 m wide will be required to make a conical tent, the radius of whose base is 7 m and whose height is 24 m? 
9
A student draws a cumulative frequency curve for the marks obtained by 40 students of a class, as shown in below. Find the median marks obtained by the students of the class.  
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10.
The probability that it will rain is 0.76. What is the probability that it will not rain tomorrow?
SECTION ( B

11.
Find the missing terms of the following A.P. 
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OR

The sum of three numbers in A.P. is 3 and their product is 
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 Find the numbers.

12.
If 
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 are the roots of the quadratic equation 
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 prove that 
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13.
For 
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 whose vertices are 
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 verify that a median divides it into two triangles of equal areas.

14.
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 and 
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lie on the same side of the base BC. From a point P on BC, 
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 and 
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 are drawn. Prove that 
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15.
From a well shuffled pack of cards five cards, namely ace, king, queen, jack and the five of hearts are taken out and placed on the table with their faces downwards. From these cards, one card is picked up at random.


i) Find the probability that the card is ace.


ii) If the ace is drawn and put aside, what is the probability that the second card picked up is the jack?

SECTION ( C

16.
Show that the cube any positive integer is of the form 
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 where k is some integer.
OR

Find the HCF of 1794, 2346 and 4761 using Euclid’s Division Lemma.
17
Draw a ΔPQR with (P = 30°, PQ = 6 cm and (Q = 120°. Construct a pair of tangents from the vertex R to the circle through PQ as its diameter.
18.
Solve : 
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19.
Draw the graphs of 
[image: image26.wmf]3x4y60and3xy90
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. Also determine the coordinates of the vertices of the triangle formed by these lines and the x-axis.

20.
Evaluate, without using trigonometric tables:
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OR

Prove that : 
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21.
The line segment joining the points 
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 is trisected at the points P and Q. If the point P lines on the line 
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find the value of k.

22.
If 
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 are vertices of a parallelogram, find the values of a and b.

23.
In the adjoining figure, points S and T trisect BC and 
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 Prove that 
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24.
In the adjoining figure, PQRS is a quadrilateral in which 
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 A circle 
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 touches the sides PQ, QR, RS and PS at A, B, C and D respectively. If 
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 find the value of r.
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OR

In the adjoining figure, O is the centre of two concentric circles of radii 4 cm and         6 cm respectively. PT and PS are tangents to the outer and inner circle respectively. If 
[image: image39.wmf]PT10cm,
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 find the length of PS (in cm) upto one place of decimal.  
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25.
Find the area of the shaded region in the adjoining figure, where PQRS is a square of side 14 cm and semicircles are drawn with each side of the square as diameter. 
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SECTION ( D

26.
Two pipes running together can fill cistern in 
[image: image43.wmf]8
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 minutes. If one pipe takes 1 minute more than the other to fill thee cistern, find the time in which each pipe would fill the cistern.
OR

The angry Arjun carried some arrows for fighting with Bheeshm. With half the arrows

he cut down the arrows thrown by Bheeshm on him and with six other arrows he killed the charioteer of Bheeshm. With one arrow each he knocked down respectively the rath, flag and bow of Bheeshm. Finally with one more than four times the square root of arrows he laid Bheeshm unconscious on an arrow-bed. Find the total number of arrows Arjun had. 

27.
From a window 60 metres high above the ground of a house in a street, the angles of elevation and depression of the top and the foot of another house on the opposite side of the street are 60( and 45( respectively. Show that the height of the opposite house is 
[image: image44.wmf](
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OR

The angles of elevation and depression of the top and bottom of a light-house from the top of a building 60 m high, 30( and 60( respectively. Find 



i) the difference the heights of the light-house and the building,


.
ii) distance between the light-house and the building.
                                 

28.
A godown building is in the form as in the figure. The Vertical cross section parallel to the width side of the building a rectangle 7 m x 3 m., mounted by a semi-circle of radius 3.5 m. The inner measurements of the cuboidal portion of the building are   
[image: image45.wmf]10m7m3m
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. Find the volume and the total inner surface area excluding the floor (base).  [Take
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29.

Find the median marks from the following data:- 

	Marks
	00 and above
	10 and above
	20 and above
	30 and above
	40 and above
	50 and above
	60 and above
	70 and above
	80 and above
	90 and above
	100 and above

	Number of Students
	80
	77
	72
	65
	55
	43
	28
	16
	10
	08
	00


30.
Prove that the ratio of the areas of two similar triangles is equal to the ratio of the squares of their corresponding sides.

Using the above result, find the ratio of the areas of (ADC and (ABC when (ABC is right angled triangle at A with AD ( BC, BC = 12 cm and AC = 5 cm.
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